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�� ���� ��������� ��������������� � ��� �!������ ���!��" #�$��� ���
��� �������%!� $�!&�� � ��� ���!��"  ����� �� '�!! �� ��� #����#������
� ��� ���!��"  ���� �� ��� ��� ��������� �� ��� ����� ������ �&� ��
��"����(����� � �!�������) � �����" "&�#��" ��"�����  ��!# H0 � ���
�!������ ���!��" #�$��� �!�������� ��� ������%&����� � ����� �����&�
��������� �� ��� ���!��"  ���� *+,� 
��� ���&!�� �� � �����" �����������
� ��� ���!��"  ����� �-��������# %. �!�' ���� �� ��� ���!��" #�$����
�����#��" �� ����&������� �� ���/0 *1, ��# �� ����� �����"� ���"�
'���� &�� ��� �!������ ���!��" 2���) ��"� �� �� �*3,4 ��� #���"�� � ��'
�!������ ���!��" #�$����) �� � ��� ��� �����"� ���"� '��� �!������ ���!��"
#� �����!. ���&!# ��5� ���� ����&�� ���� �  ����

�� ���&����!.) ��� �����%�!����� � �����������$� ��!�&!������ � ���
���!��"  ����) �� � ��� ����&������� ��� ��%�������# %. ��� ����!�-/
��. � ��� 5������� � ��� �!������ ���!��" �������� ��� ���� ������) ���
��� ������ �� �&�� ���"� �� &�&�!!. ���&!���# &���" $����&� ��#�!) ��
�������!����� �-���������  �� ��� ���!��"  ����� � ����!� �-�������� � 
���� 5��# '�� �&""����# �� �� �*6,7

F =
4nee

4

m

V(
V 2 + v2

eff

)3/2
ln
(

1 +
ρmax

ρmin + ρL

)
. 2+4

����) V �� ��� ��� $�!����.) veff �� ��� �  ����$� $�!����. �����# � ���
�!������ �����&� ����!��) ρmax = V/ωe) ωe = 4πe2ne/m �� ��� �!����
 ��8&���. � ��� �!������ %���) ρmin = e2/mV 2 ��# ρL = vL/ωL ��
��� 2���4 �����&� ��#�&� �� ��� �!������ %���) m �� ��� ���� � ���
�!������� 
�� �������!����� � ��� ���!��"  ���� &���" �8�2+4 #��� ���

3



���&�� ��� !�"�������� �����-������� 2ρmax � ρmin + ρL4� ��"&��"
 �� �8�2+4) ��� �&����� �� �� ��*3, ��# *6, ������� ��"� ��� ���9������ � 
��� ���!��"  ����  ��� �8�2+4 �� ��� #�������� � H0 2 ��� !��"��&#���!
���!��"  ����4  �� �� ��� ��$��" �!��" H0) ��� !��"��&#���! ���!��"  ����
�%�����# &���" �&������! ���&!������ ��# ��� !��"��&#���! ���!��"  ����
�%�����# &���" ���  �!!�'��" ����!� �-�������� *+,7

F‖(v, u) = −2πe4neLC

m

3uv2

(v2 + u2)5/2
, LC = ln

kmax

kmin
. 214

����) V 2 = v2 + u2) u �� ��� #�$������ � ��� !��"��&#���! ��� $�/
!����.  ��� ��� �$���"� !��"��&#���! $�!����. � ��� �!������ %���)
kmax = 1/ρmin ��# kmin = 1/ρmax� 
������. �� �8�2+4 ��# �� ����!��
���#������� � ��� ���&!������) ��� $�!&� � F‖ �� �8�214 $�������) � 
v = 0 ��# ���$�#�# ���� u �= 0� ��'�$��) ��� ������  �� �&�� � %���$/
��� � F‖ �� �8�214 �� ���� ���� �8&����� ��!#� ��!.  �� ��� ��������/
����� �!������ %��� 2veff = 04) ��  �� ��� ����) '���� V � veff )
'���� mv2

eff �� �� �  ����$� ��������&�� � ��� �!������ !����&� ���/
�!��� �� '�� ��������# �� �� ��*+, ��# *:, �� ��� ��"��� '���� v = 0
��# |u| � veff ) �8�214 ���&!# %� ���!���# %. ������� ��� .��!#��"
F‖ ∝ −u/v3

eff � 	� ���� � ���������� � �8��2+4 ��# 214 �� ����!�$���
 �� ���� �&������ ��#��#) ��� $�!&� � ��� ���!��"  ���� �� �8�214 ���#�
�� �� ����.) � v ��# u ���# �� (��� ���&!�����&�!. 2F ∝ −1/u2) � 
u = v → 04� 
��� �� ����� "��'�� � ��� ���!��"  ���� �� !�����#) '���
��� ��� $�!������� %����� ���!!�� ���� ��� $�!����. �����# � ��� �!��/
���� �����&� ����!��� 
!���� ���������� � "�����! �-���������  �� ���
���!��"  ���� ���'� ����  �� ��"����(�# �!������� �� �� $��. �������$�
�� ��� ����� � ��� !��"��&#���! $�!����. #�����%&����  &������ � ���
���!��" �!������� 2���� ��"� �� �� �*:,4�

�� ���� �����) '����� ���  ����'��5 � ��� ����&�%����� �����. '�
��&#. �'� �&%9����� �����) '����� ���  ����'��5 � ��� ���� ��!!�����
�����-������� '� ������� ��� #����#���� � ��� !��"��&#���! ���!��"
 ���� �� ��� ����� � ��� �!������ #�����%&����  &������ �� ����� !��/
"��&#���! $�!�������� 
�� �����#) '����� ���  ����'��5 � ��� �!����
�����. �������� 2���� ��"� �� �� �*;,4 '� ��!�&!��� ��� !��"��&#���!
���!��"  ����  �� ���� ��$��" ����!!�! �� ��� "&�#��" ��"�����  ��!#
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� ��� ���!��" #�$��� %�.��# ��� ��/��!!�# !�"�������� �����-��������
<� #� ��� ��5� ���� ����&�� ��� ���/����&�%���$� ������%&����� �� ���
���!��"  ���� 2���� ��"� �� �� �*:,4�

� �

�	� �
 ��
� ���	����� �� ������
��� 	���
��

� fe(ue) �� ��� #�����%&����  &������ � ��� ���!��" �!������� �� ���
!��"��&#���! $�!�������) ��� !��"��&#���! ���!��"  ���� ��!�&!���# �� ���
���� ��!!����� �����-������� ��# ���&���" H0 → ∞ ���#�

F‖(v, u) = −2πe4neLC

m

∫ ∞

−∞

3v2(u − ue)f(ue)

(v2 + (u − ue)2)
5/2

due 234

=
2πe4neLC

m
v2

∫ ∞

−∞

due

(v2 + (u − ue)2)
3/2

df(ue)
due

. 264

�����) !�� &� ��!�&!��� ��� !��"��&#���! ���!��"  ���� ���&���" ���  �!/
!�'��" #�����%&����  &������ �� ��� !��"��&#���! �!������ $�!�������

f =
1
2σ

{
1, |ue| ≤ σ,
0, |ue| > σ.

2:4

	&%����&���" ���� �-�������� �� �8�264) '� �%����

F‖ = −2πe4neLC

m

v2

2σ

[
1

(v2 + (σ − u)2)3/2
− 1

(v2 + (σ + u)2)3/2

]
. 2;4


�� $�!&� � F �� ���� �8&����� �!�� $������� '��� v → 0 &�!��� |u| =
σ� ��� �-���!�)  �� ���!! !��"��&#���! $�!����. � ��� ��� 2|u| � σ4
�8�2;4 .��!#� �� �-��������

F‖ 	 −2πe4neLC

m

3v2

(v2 + σ2)5/2
u, 2=4

'���� �� $��. ����!�� �� ���� �� �8�214� �"���) � ��� $�!&�� v ��#
|u| − σ �� �8�2;4 ���# �� (��� ���&!�����&�!.) ��� $�!&� � ��� ���!��"

:



 ���� ���#� �� �� ����.� �����#��" �� �8�264) '� ��. �-���� ���� ��
���&�� #&� �� ����� �#"�� � ��� #�����%&����  &������� 
�  �"&�� �&�
��� ��!� � ��� ���!� � ��� #�����%&����  &������ �� ��� %���$��� � ���
���!��"  ���� '� ��!�&!��� F‖ ��5��" �� f(ue) ���  �!!�'��" �-��������

f(ue) =
1

2πσ

[
arctan

(
ue + σ

δ

)
− arctan

(
ue − σ

δ

)]
. 2>4

����) ��� $�!&� � δ #��������� ��� '�#��� � ��� ���!� � f � �� ������/
&!��) ��� #�����%&����  &������ �� �8�2:4 �� �%�����# �� � !���� � ���
��"��/���# ��#� �� �8�2>4) � δ ���#� �� (���� ����" �8�2>4) '� ��'����
�8�264 !�5�  �!!�'�

F‖ =
2πe4neLC

m

z2

σ2

b

2π

∫ ∞

−∞

1

(z2 + (y − x)2)3/2
(
b2 + (x + 1)2

)dx

− 2πe4neLC

m

z2

σ2

b

2π

∫ ∞

−∞

1

(z2 + (y − x)2)3/2
(
b2 + (x − 1)2

)dx. 2?4

����) �!! ���������� � ��� ��� $�!����. ��� ����&��# �� &���� � σ
2��"� y = u/σ4 ��# b = δ/σ� 	&%����&���" �� �8�2?4 x = y + z tan α)
'� �%����

F‖ =
2πe4neLC

mσ2

b

2π

∫ π/2

−π/2

cos αdα(
b2 + (y + 1 + z tan α)2

)

− 2πe4neLC

mσ2

b

2π

∫ π/2

−π/2

cos αdα(
b2 + (y − 1 + z tan α)2

) . 2+@4


�� ����"���#� �� ��� ��"��/���# ��#� � �8�2+@4 ��� '�!! ���$��"��"
 &�������  �� �!! $�!&�� � z� ��� ���� ������) '� ��� �&� �� ���� �8&�����
z = 0 ��  ��#

;



F‖(v = 0, u) =
2πe4neLC

mσ2

b

π


 1(

b2 + (y − 1)2
) − 1(

b2 + (y + 1)2
)

 .

2++4
�!���&"� v = 0) ����  &������ #��� ��� $����� &�!��� u = 0. �&� ��
������ ���!� � ��� #�����%&����  &������ �� �8�2>4 ��� ���!��"  ���� ��
�8�2++4 �� �!�� � ���/���"&!��  &������ � u�

	���!�� ��!�&!������  �� � A�&�����  &������

fe =
1√
2πσ

exp
(
− u2

e

2σ2

)
,

���&!� ��

F‖(v, u) = −2πe4neLC

m
√

2πσ

∫ ∞

−∞

3v2(u − ue)

(v2 + (u − ue)2)
5/2

exp
(
− u2

e

2σ2

)
due,

��) ����&���" �!! $�!������� �� &���� � σ)

F‖ = −2πe4neLC

mσ2

z2

√
2π

∫ ∞

−∞

x

(z2 + (y − x)2)3/2
exp

(
−x2

2

)
dx. 2+14

����) z = v/σ ��# y = u/σ� <����&� ����� !���������� ��� $�!&� � 
kmin �� ��� 
�&!��% !�"������ LC �� �8�2+14 �� #��������# %. ���
��%.� ��������" �� ��� �!������ %���) �� ����

LC = ln
kmax

kD
, k2

D =
ω2

e

σ2
=

4πnee
2

mσ2
. 2+34

	&%����&���" �� �8�2+14 x = y + |z| tan α) '� �%����

F‖ = −
√

2πe4neLC

mσ2

∫ π/2

−π/2
(y cos α + |z| sin α)

× exp

(
− [y + |z| tan α]2

2

)
dα 2+64

=



	���� ��� ����"���# �� �8�2+64 �� � ������"&!��  &������ � ��� ��"&/
����� '� ��� �&� �� ���� �8&����� z = 0 ��  ��#

F‖(v = 0, u) = −4πe4LC

mσ2

ye−y2/2

√
2π

. 2+:4

<� ���� ���� �� ��� ��"��� '���� !��"��&#���! $�!������� � ���� #� ���
�-���# �&%�������!!. ��� !��"��&#���! $�!����. �����# � �!�������) �!!
�%�����# �-��������� � ��� !��"��&#���! ���!��"  ���� ��� �����������!
�� ���  ���� #���$���$� � ��� �!������ !��"��&#���! $�!����. #�����%&����
 &������ �$�� ��� !��"��&#���! ��� $�!����.�

��� &� �!�� ��!�&!��� ��� ��'�� � ��� ���!��"  ����

Q = F⊥v+F‖u. 2+;4

����" 2���) ��"� �� �� �*+,4

F⊥ = −2πe4neLC

m
v
∫ ∞

−∞
due

(u − ue)

(v2 + (u − ue)2)
3/2

df(ue)
due

2+=4

��# ����&���" ��� $�!������� �� &���� � σ) � ��� ����!� ����� ���������
'� �%����

−Q =
Q0 sin2 θ√

2π

∫ ∞

−∞
x2e−r2x2/2

(1 − 2x cos θ + x2)3/2
dx . 2+>4

����) r2 = (v2 + u2)/σ2) tan θ = v/u ��#

Q0 =
2πe4neLC

mσ
r2 . 2+?4

�����#��" �� �8�2+>4 ��� #����#���� � Q �� ��� ��"!� 2θ4 %��'���
��� ��� $�!����. ��# ��� #�������� � ��� "&�#��" ��"�����  ��!# � ���
���!��" #�$��� $����� '��� �� �������� �� ��� $�!&� � r 2��"�+ ��#
��"�14�

��� ���  ����� !��"��&#���! $�!����. �����#) ��� #����#���� � −Q
�� θ �����#� ���� ��!�&!���#  �� ��� ������������� ��"����(�# �!��/
���� %��� ��!.) '��� r > 4 2��"�14� 
��� %���$��� �"���� '��� ����

>
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Q
/Q

0

θ/(π/2)

��"&�� +7 �����#���� � ��� ��'�� � ��� ���!��"  ���� 2Q4 �� α� ����
��� �� %����� r = 0.1) @�1:) @�: ��# +�

0,0 0,2 0,4 0,6 0,8 1,0
0,000
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Q
/Q

0
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��"&�� 17 	��� �� �� ��"�+) %&� r = 5�
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���#����# �� �� �*+, ��� ���!! ��� $�!������� ��� "����� ���'� �� ��"�+
���� �� %� �� !���� �� � 8&�!�����$� �"������� '��� ��� ���&!�����
���&!�� "�$�� �� ��"�= � �� �*3,�

� ��� ������
��� 	���
�� 
��	� �
 
��� �
��

���� ���������� ����	
�
��

0��� �����������$� ��!�&!������ � ��� ���!��"  ���� �� �����$�# �����/
��" ��� �!������ ���!��" ������� �� � #.������! ��%.� ��������" � ���
��� �� ��� �!������ %���� <����� ���� �������� ��# ��"!�����" ���
��������� �  ����) '� '���� 2���) ��"� �� �� �*;,4

F‖ =
−ie2

2π2

∫
d2qdkk

(q2 + k2) ε(qv, ku)
. 21@4

����) q2 = q2
x + q2

z �� ��� �8&��� � ��� �����$���� �� H0 '�$� $����� � 
��� 
�&!��% �!������  ��!# � ��� ��� �� ��� �!������ %��� ��# k �� ���
!��"��&#���! ���������) ε(qv, ku) �� ��� #��!������ ������%�!��. � ���
�!������ %���) ��!�&!���#  �� ���  ��8&���. ω = qxvx + qzvz + ku� ���
��� �����"!. ��"����(�# �!������ %��� 2|H0| = ∞4) ��� ���%�������(
q2 + k2

)
ε(qv, ku) ���#�

(q2 + k2)ε(qv, ku) =q2 + k2

+ ω2
ek

∫
due (dfe/due)

qxvx + qzvz + k(u − ue) + i0
, 21+4

'���� ω2
e = 4πnee

2/m �� ��� �!����  ��8&���. � ��� �!������ %���
��# fe �� ��� !��"��&#���! $�!����. #�����%&����  &������ � ��� �!������
%���� ��� �� �!������ %��� �� ��� ��"�����  ��!# � �  ����� �����"��)
�8�21+4 ��!#�) � qρL � 1 ��# k |u| � ωL� �� ���� 	������ '� ��!�&!���
��� !��"��&#���! ���!��"  ����  �� � ������&!�� ����) '���� vx = vz = 0
'��!� fe �� � A�&�����  &������

fe =
1√
2πσ

exp
(
− u2

e

2σ2

)
. 2114
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����" ����� ���&�������) '� ��'���� �8�21+4 �� ���  �!!�'��"  ���

(
q2 + k2

)
ε(qv, ku) = q2 + k2 + k2

DP (u) + ik2
D

k

|k|J(u), 2134

'����

P = − lim
λ→0

∫ ∞

−∞
dx√
2π

(y − x)xe−x2/2

(y − x)2 + λ2
, y =

u

σ
, 2164

J =
√

π

2
ye−y2/2. 21:4

	&%����&���" �8�2134 �� �8�21@4) '�  ��#

F‖ = −e2k2
DJ(u)
2π2

∫
d2q

∫ ∞

−∞

dk |k|(
q2 + k2 + k2

DP (u)
)2 + k4

DJ2(u)
.


���"��" ���� ��� ����"������ $����%!�� �����#��" �� k2 = k2
Dx ��#

q2 = k2
Dt) '� ����� ��� F‖ �� ���  �!!�'��"  ���

F‖ = −e2k2
DJ(u)
2π

1
|J(u)|

∫ ∞

0
dx

{
π

2
− arctan

x + P (u)
|J(u)|

}
. 21;4


�� ����"��! �$�� x �� ��� !��� �-�������� !�"���������!!. #�$��"�� ��
��� &���� !���� � ��� ����"������� 
��� #�$��"���. ��� %� ��"&!���(�#
����"�����" �� �8�21;4 �$�� x  ��� (��� �� ����  ����� $�!&� x = xmax�

�� $�!&� kmax �� xmax = k2

max/k
2
D �� ������ �� � ���!!��� $�!&� %�/

�'��� e2kmax � mσ2 ��# kmax |u| � ωL) '���� ωL = eH0/mc� 
��
 ���� ���8&�!��. ���%!�� ��� ���!������� � ��� ����&�%����� �����.  ��
��� ��!�&!����� � ��� ���!��"  ����� 
�� �����# ���#����� ���%!�� ��
���!������� � �8�21+4  �� �&�� ��!�&!������� ��') ��� ����"������ ��
�8�21;4 .��!#�

F = FL + Fw, 21=4

++



'����

FL = −F0ye−y2/2 1
2

ln



(

k2
max

k2
D

+ P

)2

+ J2

P 2 + J2


 , 21>4

��#

Fw = −F0

√
2
π

y

|y|
{

π

2
k2
max

k2
D

−
(

k2
max

k2
D

+ P

)
arctan

k2
max + k2

DP

k2
D|J |

+ P arctan
P

|J |
}

21?4

����)

F0 =
e2k2

D

2
√

2π
. 23@4

�� ��� ��"��� '���� ��� !�"�������� �����-������� ��!#� '�!!
2kmax � kD4 ��� !�"�������� ���� � ��� ���!��"  ���� 2FL4 ������#��
'��� ��� ��"��/���# ��#� �� �8�2+:4� ��� � "�$�� $�!&� � kmax ��
�-�������� �� �8�21=4 .��!#� ��� $�!&� � ��� ���!��"  ���� �� %��� !�"�/
������� ��# �� ���/!�"�������� �����-��������� �����#��" �� �8�21;4)
��� ���/!�"�������� ������%&����� ��� ��������� �� ��� ��"���� '����
%��� q2 + k2 + k2

DP (y) ��# J(y) �������� (��� $�!&��� 
��� ��"���
� ���������� ���������#� �� ���#������ '���� ��� ��� ��#����� �� ���
�!������ %��� ���! 2��) �!���� ���!4 �!���� '�$��� �� �� ����  ���
2��"�34) �� ��� ��"��� '���� ��� !�"�������� �����-������� ��!#� ����
�� !��� '�!! 2��"� LC = 4.64) ��� !�"�������� ���� � ��� ���!��"  ����
#�����%�� ��� #����#���� �� ��� ��� $�!����. ��!. �� ��� ��"��� '����
u �� ��!���$�!. ���!! 2��"� �� ��"�3 �� ��!#�) � u < σ4� ��� !��"�� ���
$�!������� ��� ���/!�"�������� ������%&���� �� F‖ #&� �� �!���� '�$��
��#������ �� ���������� �� #��������) � |u| > 4σ�

��.��# ��� !�"�������� �����-������� 2��"� LC = 0.04 �� ��"�64
��� !�"�������� ���� � ��� ���!��"  ���� �� ��"!�"�%!� ���!! '��!� ���
$�!&� � F �� #��������# ����!. %. ��� �!���� '�$� ��#������ ���������
2��"�64�
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� ���	���
��

��������# ��!�&!������ ��#����� ���  �!!�'��" ���������  ���&��� � ���
�!������ ���!��" �����.� �����) �� ��� ����� '���� ��� ��"����(�# ���!/
��" #�������� ��� ��!�&!������ � ��� ���!��"  ���� ��� $��. �������$� ��
��� ���������� � ��� ���!� � ��� #�����%&����  &������ �� ��� �!������
!��"��&#���! $�!�������� ��� �-���!�) �� ��� ���� � � A�&����� #��/
���%&���� ��� ���#����# %���$��� � ��� ���!��"  ���� ��# � ��� ��'��
#� ��� ��#����� ��"�� ����� #�$�������  ��� ��� ���&!�� � ��� ���&!�/
����� #���&���# �� �� ��*3, ��# *6,� ��� ��� ���!��" �� � �����" "&�#��"
��"�����  ��!#� ��� ���������� � ��� ���&!�� � ��� #�����%�# ���!.���
��!�&!������ ��# � ���&!������ ��������# �� �� ��*6, ��# *3, ��#������
%����� 8&�!�����$� �"������� ���� %��'��� ����� ���&!������ ��# ���
�������!�����  ���&!� �� �8�2+4�

	����#) ��� ��!�&!������ � ��� ���!��"  ���� #&� �� �����"!. ��"/
����(�# �!�������  �� ���� '��� (��� �����$���� $�!������� ��#����� ����
��� ��#������ %. �� ��� � ��� �!���� ���! �!���� '�$�� ��. "�$� ��"/
�� ����� ������%&����� �� ��� ���!��"  ����� �� ������&!��) �� ��� �����
'��� ��� $�!&� � ��� 
�&!��% !�"������ �� ��� $��. !��"�) ��� $�!&��
� ��� ���!��"  ����� �  �����" ���  ��� ���� 2��"� u > 4σ4 ���&�� #&� ��
����� ��#������ ���������� 
�� ���!��"  ����  �� �&��  ��� ���� ���&!#
%� ��!�&!���# %�.��# ��� !�"�������� �����-��������

�� %��� ����� ��� $�!&� � ��� ���!��"  ���� �� $��. �������$� ��
��� ���������� � ��� #�����%&����  &������ �$�� !��"��&#���! $�!���/
���� � ��� ���!��" �!�������� �� ������&!��) ��� !��"��&#���! ���!��"
 ����  �� ���� '��� (��� �����$���� $�!������� �� �����������! �� ���  ����
#���$���$� � ���� #�����%&����  &������ �$�� ��� ��� !��"��&#���! $�!��/
��.� ���$�#�# ���� �����$���� ���������� � ��� "&�#��" ��"�����  ��!#
� ��� ���!��" #�$��� ��� �&�������#) ����  ��� ��� %� &��#  �� #�����
����&������� � ��� !��"��&#���! $�!����. #�����%&����  &������ �� ���
�!������ %����

� �� ��#�%��# �� C� ���5�����&5  �� ����&!����" #���&�������
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